Tenwhwuubp (14-16 mwpblw)

1. Uwdyb] Ywupbywu' 46 Yq

2. Lwpby Updnyywt' 53 Yq

3. Uunpbt Uwpnwpjwu' 58 Yq

4. 9nn Cwwnybipjwt' 64 Yq

5. Sphgpwu Uwpnijuwujwt' 71 Yq
6. 9nn Unwuwpnuwu' 79 Ygq

7. Upbu <wpnyeniujwt’ 88 Ygq

8. Mwypp Pwpubinuwu' 88+ Yg

Unouwlubp (14-16 mwpbtlYwi)
Lwyywuny Ughgpbljwu' 47 Yq
Muwwnwupubip (16-18 mwpbywi)

1. Upy Ubphuyjwt' 53 Yq

2. Updbu Unnuwjwu’ 58 Yy

3. EphYy Gnipowiuywt’ 64 Yq

4. Lwdtn Mwpuwdjuu' 71 Yg
5. Utjpwu Uwpniuwuywt' 79 Yg
6. <nhwuubu Uwhwljwu' 88 Yq
7. EppYy Uwnwpbywu' 98+ g

Gphnwuwpnutp (18-20 mwpblw)

Lhppbipun Uwhwyjwu' 58 Yg
Uhtp UGinjwu' 64 Ygq

Upwpwwn Ugnigwu' 71 Yg
Uunpbwu <wpnigyniujwu’ 79 Yg
Upubu <wjpwwbinjwu’ 88 Yg
Qnhgnp PElUwqupuu' 98 Ygq

o0 s wn =

UnohYubp (18-20 mwptywi)

1. Uutw Ujwquu’ 50 Yq
2. Lwub <wynpjwu’ 65 Ygq



Uwpunwlwu uwdpn

1. Utuppwn Utuhpwpuwt’ 58 Yg
2. Updwu Uwubujwu' 98 Yq



